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8K 2 o A (A& D 1,017,469 1,070,047 AB2,578
ol2f 2 o) (20 & It 939,759 992,337 AB2,578
mEolz 2y 241,271 292,889 AB1,618
101 01 21t] 234,006 284,069 A50,043
8,970 10,920 A1,050 (03 BoMTAl) A1,950
OEQAE  AXF 8,070,002 - JIE 10,920,0008= A1,050
8,280 10,080 A1,800|04 DERZEH) A1,800
OmEHE  ZH 8,280,002 - JIE 10,080,0008= A1,800
12,554 15,282 £2,728|05 @EEIMH) £2,728
OEQAE AF 12,554,002 - JIE 15,282,0008= ~2,728
20,964 25,521 ~d557 |06 JHHTIA) A4, 557
OHRZE AF 20,964,002 - IIE 25,521,0008= A4,557
6,626 8,066 At,440|07 1rE At A1,440
OEQAE 2 6,606,002 - JIE 8,066,0008= A1,440
176,632 214,200 ~37,568 |08 JIEIRE A A37,568
L CELD A37,568
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02 4T

EER)
Aol IIE o ek HRE2 o E 2
-23  FJ 125,531,0008 - JIF 152,819,0002= N27,288
-H24Y A 9,938,0008 - JIF 12,099,000 = A2,161
HESY 2600
THHRX ZH 2,760,000 - JIF 3,360,0002= 2600
-H24Y O A 1,560
" 20-251 0] gt
27X 3,120,0002 - JIF 3,960,0008= 2840
" 10-15 0] gt
2R 720,008 - JI & 1,440,00081= AT20
-Z22+Y £.5,959
Al2tel 2o gt
AE 12,254,0002 - JIE 14,917,000 = 12,663
59284y
2 15,935,002 - I 19,231,0002!= 13,296
SRR 7,245 8,820 A1,575
7,245 8,820 A1,575|02 HZEEH 21,575
OHAYE JEZH|
AR 7,245,0002 - I 8,820,0002= A1,575
22| 698,483 699,448 960
yeExN 6,990 7,200 A210
3,990 4,200 A210(04 RASYARETY A210
ORNSILLETH|(H)
23X 3,990,0002 - JIE 4,200,0002= A210
3,450 4,200 AT50
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